Aitkin County **Contract Bid Abstract**

Project Name: Two culvert replacements on 155th Place in Millward North and Beaver Townships

Project No.: Bid Opening:

SAP 001-599-040 6/11/2018 at 2:00 PM Contract No.:

20183

Client: Owner: Aitkin County Aitkin, Minnesota

	Project: SAP 001-599-040 - Culvert Replacement			Engineers Es	timate	Roth Constru			onstruction -	The state of the s	tracting LLC -	Gladen Cons		Central Spec			ntracting, LLC
	on 155th Place			A S II COMESSANCE !		McGrath, M		St. Cloud, M		Onamia, MN		Laporte, MN		Alexandria,		Marshall, MI	
Line	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.																	
01J41																	
1	2021.5 MOBILIZATION	LS	1	\$4,000.00	\$4,000.00	\$5,500.00	\$5,500.00		\$3,300.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$12,500.00			\$14,000.0
2	2051.5 MAINT & RESTORATION OF HAUL ROAL	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,080.00	\$1,080.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1.00		\$1.00	\$1.0
3	2104.5 REMOVE PIPE CULVERTS	L F	64	\$100.00	\$6,400.00	\$10.25	\$656.00		\$864.00	\$10.00	\$640.00	\$40.00	\$2,560.00	\$100.00	\$6,400.00		\$2,560.0
4	2105.51 COMMON EXCAVATION (P)	CY	79	\$8.00	\$632.00	\$6.00	\$474.00	\$6.50	\$513.50	\$10.00	\$790.00	\$11.50	\$908.50	\$25.00	\$1,975.00	\$6.00	\$474.0
5	2105.51 GRANULAR BORROW (LV)	CY	203	\$13.00	\$2,639.00	\$13.25	\$2,689.75	\$14.50	\$2,943.50	\$20.00	\$4,060.00	\$14.00	\$2,842.00	\$17.00	\$3,451.00	\$20.00	\$4,060.0
€	2118.51 AGGREGATE SURFACING (LV), CLASS 5	CY	112	\$22.00	\$2,464.00	\$21.25	\$2,380.00	\$26.60	\$2,979.20	\$28.00	\$3,136.00	\$29.00	\$3,248.00	\$26.00	\$2,912.00	\$24.00	\$2,688.0
7	2412.5 10X5 PRECAST CONCRETE BOX CULV EN	EACH	2	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$10,795.00	\$21,590.00	\$11,000.00	\$22,000.00	\$11,355.00	\$22,710.00	\$20,000.00	\$40,000.00	\$16,000.00	\$32,000.0
8	2412.5 10X5 PRECAST CONCRETE BOX CULVER	LF	38	\$900.00	\$34,200.00	\$875.00	\$33,250.00	\$783.50	\$29,773.00	\$925.00	\$35,150.00	\$850.00	\$32,300.00	\$1,100.00	\$41,800.00	\$1,200.00	\$45,600.0
9	2451.51 GRANULAR BACKFILL (LV)	CY	684	\$13.00	\$8,892.00	\$13.25	\$9,063.00	\$14.50	\$9,918.00	\$20.00	\$13,680.00	\$14.00	\$9,576.00	\$17.00	\$11,628.00	\$20.00	\$13,680.0
10	2451.51 COARSE AGGREGATE BEDDING (LV)	CY	75	\$50.00	\$3,750.00	\$45.00	\$3,375.00	\$33.00	\$2,475.00	\$50.00	\$3,750.00	\$38.00	\$2,850.00	\$49.00	\$3,675.00	\$50.00	\$3,750.0
11	2451.6 STRUCTURE EXCAVATION CLASS U	LS	1	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$10,500.00	\$10,500.00	\$1,000.00	\$1,000.00	\$13,900.00	\$13,900.00	\$1,500.00	\$1,500.00	\$15,000.00	\$15,000.0
12	2511.51 RANDOM RIPRAP CLASS III	CY	31	\$75.00	\$2,325.00	\$75.00	\$2,325.00	\$61.00	\$1,891.00	\$90.00	\$2,790.00	\$95.00	\$2,945.00	\$75.00	\$2,325.00	\$85.00	\$2,635.0
13	2563.6 TRAFFIC CONTROL	LS	1	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$3,000.00	\$3,000.0
14	2564.52 SIGN PANELS TYPE C	SF	12	\$50.00	\$600.00	\$65.00	\$780.00	\$55.00	\$660.00	\$70.00	\$840.00	\$65.00	\$780.00	\$60.00	\$720.00	\$60.00	\$720.0
15	2573.5 SILT FENCE, TYPE HI	L F	355	\$5.00	\$1,775.00	\$3.00	\$1,065.00	\$3.00	\$1,065.00	\$5.00	\$1,775.00	\$3.50	\$1,242.50	\$3.00	\$1,065.00	\$3.00	\$1,065.00
16	2573.5 FLOTATION SILT CURTAIN TYPE STILL W	.F	30	\$25.00	\$750.00	\$22.50	\$675.00	\$18.00	\$540.00	\$20.00	\$600.00	\$22.00	\$660.00	\$19.95	\$598.50	\$25.00	\$750.00
17	2574.51 COMMON TOPSOIL BORROW	CΥ	36	\$30.00	\$1,080.00	\$20.00	\$720.00	\$30.00	\$1,080.00	\$50.00	\$1,800.00	\$24.00	\$864.00	\$50.00	\$1,800.00	\$10.00	\$360.00
18	2575.5 TURF ESTABLISHMENT	S	1	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$4,900.00	\$4,900.00	\$6,000.00	\$6,000.00
		To	otal 01J41:		\$96,507.00	i i	\$93,202.75		\$97,422.20		\$100,511.00		\$111,486.00		\$137,750.50		\$148,343.00
1J42																	
19	2021.5 MOBILIZATION	S	1	\$4,000.00	\$4,000.00	\$5,500.00	\$5,500.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$12,500.00	\$12,500.00	\$14,000.00	\$14,000.00
20	2051.5 MAINT & RESTORATION OF HAUL ROAD	.5	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,080.00	\$1,080.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1.00	\$1.00	\$1.00	\$1.00
21	2104.5 REMOVE PIPE CULVERTS	F	64	\$100.00	\$6,400.00	\$10.25	\$656.00	\$13.50	\$864.00	\$10.00	\$640.00	\$40.00	\$2,560.00	\$100.00	\$6,400.00	\$40.00	\$2,560.00
22	2105.51 COMMON EXCAVATION (P)	Υ	119	\$8.00	\$952.00	\$6.00	\$714.00	\$6.50	\$773.50	\$10.00	\$1,190.00	\$11.50	\$1,368.50	\$25.00	\$2,975.00	\$6.00	\$714.00
		Υ	616	\$13.00	\$8,008.00	\$13.25	\$8,162.00	\$14.50	\$8,932.00	\$20.00	\$12,320.00	\$14.00	\$8,624.00	\$17.00	\$10,472.00	\$20.00	\$12,320.00
24	2118.51 AGGREGATE SURFACING (LV), CLASS 5	Υ	166	\$22.00	\$3,652.00	\$21.25	\$3,527.50	\$26.60	\$4,415.60	\$28.00	\$4,648.00	\$29.00	\$4,814.00	\$26.00	\$4,316.00	\$24.00	\$3,984.00
25		ACH		\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$10,795.00	\$21,590.00	\$11,000.00	\$22,000.00	\$11,355.00	\$22,710.00	\$20,000.00	\$40,000.00	\$16,000.00	\$32,000.00
26		F	34	\$900.00	\$30,600.00	\$875.00	\$29,750.00	\$783.50	\$26,639.00	\$925.00	\$31,450.00	\$850.00	\$28,900.00	\$1,100.00	\$37,400.00	\$1,200.00	\$40,800.00
_		Y	384	\$13.00	\$4,992.00	\$13.25	\$5,088.00	\$14.50	\$5,568.00	\$20.00	\$7,680.00	\$14.00	\$5,376.00	\$17.00	\$6,528.00	\$20.00	\$7,680.00
_		Y	57	\$50.00	\$2,850.00	\$45.00	\$2,565.00	\$33.00	\$1,881.00	\$50.00	\$2,850.00	\$38.00	\$2,166.00	\$49.00	\$2,793.00	\$50.00	\$2,850.00
29		S	1	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$10,500.00	\$10,500.00	\$1,000.00	\$1,000.00	\$8,600.00	\$8,600.00	\$1,500.00	\$1,500.00	\$15,000.00	\$15,000.0
		Y	23	\$75.00	\$1,725.00	\$75.00	\$1,725.00	\$61.00	\$1,403.00	\$90.00	\$2,070.00	\$95.00	\$2,185.00	\$75.00	\$1,725.00	\$85.00	\$1,955.00
31		s	1	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00
		F	12	\$50.00	\$600.00	\$65.00	\$780.00	\$55.00	\$660.00	\$70.00	\$840.00	\$65.00	\$780.00	\$60.00	\$720.00	\$60.00	\$720.00

	Project: SAP 001-599-040 - Culvert Replacement on 155th Place			Engineers Es	timate	Roth Constru McGrath, M		Landwehr Co St. Cloud, MI		BroMax Cont Onamia, MN	tracting LLC -	Gladen Cons Laporte, MN		Central Spec Alexandria, N		Midwest Cor Marshall, MI	ntracting, LLC - N
ine No.	ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
33	2573.5 SILT FENCE, TYPE HI	LF	620	\$5.00	\$3,100.00	\$3.00	\$1,860.00	\$3.00	\$1,860.00	\$5.00	\$3,100.00	\$3.50	\$2,170.00	\$3.00	\$1,860.00	\$3.00	\$1,860.00
34	2573.5 FLOTATION SILT CURTAIN TYPE STILL W	LF	40	\$25.00	\$1,000.00	\$22.50	\$900.00	\$18.00	\$720.00	\$20.00	\$800.00	\$22.00	\$880.00	\$19.95	\$798.00	\$25.00	\$1,000.00
35	2574.51 COMMON TOPSOIL BORROW	CY	58	\$30.00	\$1,740.00	\$20.00	\$1,160.00	\$30.00	\$1,740.00	\$50.00	\$2,900.00	\$24.00	\$1,392.00	\$50.00	\$2,900.00	\$10.00	\$580.00
36	2575.5 TURF ESTABLISHMENT	LS .	1,	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$4,900.00	\$4,900.00	\$6,000.00	\$6,000.00
		T	otal 01J42:		\$95,119.00		\$92,637.50		\$98,176.10		\$101,988.00		\$106,625.50		\$138,288.00		\$147,024.00
	Total 01J41:				\$96,507.00		\$93,202.75		\$97,422.20		\$100,511.00		\$111,486.00		\$137,750.50		\$148,343.00
	Total 01J42:				\$95,119.00		\$92,637.50		\$98,176.10		\$101,988.00		\$106,625.50		\$138,288.00		\$147,024.00
	Totals for Project SAP 001-599-040				\$191,626.00		\$185,840.25		\$195,598.30		\$202,499.00		\$218,111.50		\$276,038.50		\$295,367.00
	% of Estimate for Project SAP 001-599-040						-3.02%		2.07%		5.67%		13.82%		44.05%		54.14%

I hereby certify that this is an exact reproduction of bids received.

Certified By:

License No. 243L

Date: 6-11-18

Handout 4B

Aitkin County Contract Bid Abstract

Project Name: Bituminous Mill & Overlay on CSAH 6 and CSAH 8, Aggregate Base & Shoulder with Bituminous Surfacing on CSAH 32

SAP 001-608-006, SAP 001-632-007, SP 001-606-021

Bid Opening: 6/11/2018 at 2:00 PM

Project No.:

Contract No.:

20184

Client:

Owner:

Aitkin County

Aitkin, Minnesota

	Project: SAP 001-608-006 - Bituminous Mill and Overlay			Engineers Est	imate	Anderson Brothers Construction Company of Brainerd LLC - Brainerd, MN		Knife River-Sauk Rapid, MN		Central Specialities Inc- Alexandria, MN	
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$7,000.00	\$7,000.00	\$11,000.00	\$11,000.00	\$32,000.00	\$32,000.00	\$25,000.00	\$25,000.00
2	2 2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$500.00	\$500.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
3	2104.504 REMOVE CONCRETE PAVEMENT	SY	43	\$15.00	\$645.00	\$10.00	\$430.00	\$15.00	\$645.00	\$45.00	\$1,935.00
4	2104.504 REMOVE BITUMINOUS PAVEMENT	SY	2010	\$3.00	\$6,030.00	\$1.30	\$2,613.00	\$3.20	\$6,432.00	\$6.00	\$12,060.00
5	2105.507 SUBGRADE EXCAVATION	CY	112	\$15.00	\$1,680.00	\$26.00	\$2,912.00	\$20.50	\$2,296.00	\$50.00	\$5,600.00
6	2118.507 AGGREGATE SURFACING (LV), CLASS SPECIAL	CY	52	\$15.00	\$780.00	\$32.00	\$1,664.00	\$50.00	\$2,600.00	\$75.00	\$3,900.00
7	2232.504 MILL BITUMINOUS SURFACE (1.5")	SY	17673	\$2.00	\$35,346.00	\$1.35	\$23,858.55	\$1.25	\$22,091.25	\$1.85	\$32,695.05
8	2357.506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	1882	\$2.00	\$3,764.00	\$1.85	\$3,481.70	\$0.01	\$18.82	\$2.00	\$3,764.00
9	2360.509 TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	2266	\$45.00	\$101,970.00	\$46.00	\$104,236.00	\$50.00	\$113,300.00	\$61.67	\$139,744.22
10	2504.602 ADJUST VALVE BOX	EACH	7	\$250.00	\$1,750.00	\$130.00	\$910.00	\$750.00	\$5,250.00	\$175.00	\$1,225.00
11	in the second se	EACH	1	\$3,000.00	\$3,000.00	\$9,000.00	\$9,000.00	\$8,600.00	\$8,600.00	\$8,600.00	\$8,600.00
12		S F	145	\$6.00	\$870.00	\$25.50	\$3,697.50	\$24.00	\$3,480.00	\$24.00	\$3,480.00
13		LF	25	\$45.00	\$1,125.00	\$75.00	\$1,875.00	\$70.00	\$1,750.00	\$70.00	\$1,750.00
25		S Y	12	\$60.00	\$720.00	\$220.00	\$2,640.00	\$205.00		\$205.00	\$2,460.00
14		SF	15	\$55.00	\$825.00	\$65.00	\$975.00	\$60.00		\$60.00	\$900.00
15	(EACH	2	\$110.00	\$220.00	\$100.00	\$200.00	\$120.00			\$240.00
16		LS	1	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$3,500.00		\$1,600.00	\$1,600.00
17		HOUR	10	\$250.00	\$2,500.00	\$265.00	\$2,650.00	\$225.00		\$250.00	\$2,500.00
24		LS	1	\$1,000.00	\$1,000.00	\$2,650.00	\$2,650.00	\$2,500.00		\$2,500.00	\$2,500.00
18		LF	6154	\$0.20	\$1,230.80	\$0.19	\$1,169.26	\$0.50		\$0.11	\$676.94
19		LF	11822	\$0.25	\$2,955.50	\$0.27	\$3,191.94	\$0.26		\$0.24	\$2,837.28
20	2582.503 24" SOLID LINE MULTI COMP	LF	106	\$15.00	\$1,590.00	\$8.44	\$894.64	\$8.00	\$848.00	\$10.00	\$1,060.00
21	2582.503 4" BROKEN LINE MULTI COMP	LF	773	\$0.25	\$193.25	\$0.27	\$208.71	\$0.26	\$200.98	\$0.24	\$185.52

	Project: SAP 001-608-006 - Bituminous Mill and Overlay			Engineers Esti	mate	Anderson Bro Construction Brainerd LLC -		Knife River-Sa	uk Ranid Min	Central Speciali Alexandria, MN	
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
22	2582.518 PAVT MSSG MULTI COMP	SF	220	\$15.00	\$3,300.00	\$8.44	\$1,856.80	\$8.00	\$1,760.00	\$9.84	\$2,164.80
23	2582.518 CROSSWALK MULTI COMP	SF	420	\$10.00	\$4,200.00	\$5.28	\$2,217.60	\$5.00	\$2,100.00	\$7.66	\$3,217.20
	Totals for Project SAP 001-608-006				\$188,194.55		\$186,832.70		\$221,373.77		\$260,096.01
	% of Estimate for Project SAP 001-608-006						-0.72%		17.63%		38.21%

	Project: SAP 001-632-007 - Agg Base/Shoulder, Bit Surfacing/St				Engineers Est	imate	Anderson Bro Construction Brainerd LLC		Knife River-Sauk Rapid, MN		Central Specialities Inc- Alexandria, MN	
	Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	<mark>Unit Price</mark>	Total Price
No.	2021 501 1	MOBILIZATION	LC	1	¢25,000,00	¢35,000,00	¢0.400.00	\$8,400.00	¢22,000,00	632,000,00	\$50,000.00	¢50,000,00
			LS	1	\$35,000.00		\$8,400.00					\$50,000.00
2		MAINT & RESTORATION OF HAUL ROADS	LS L F	1107	\$1,000.00		\$1.00					
3		PAVEMENT MARKING REMOVAL	_	1197	\$1.50							\$1,197.00
5		ALVAGE SIGN	EACH	720	\$30.00							\$120.00
	Q+	AWING BIT PAVEMENT (FULL DEPTH)	L F	728			Gav	\$				\$2,184.00
- 5		REMOVE BITUMINOUS PAVEMENT	SY	217			\$3.00		\$9.00			\$3,255.00
	(COMMON EXCAVATION (P)	CY	322					\$15.00			\$3,220.00
8		AGGREGATE SURFACING CLASS 1	TON	4059								
9		AGGREGATE BASE CLASS 5	TON	10339	\$15.00				\$10.60	\$109,593.40		
10	(a) (a) (a)	ALVAGE AGGREGATE (EV)	CY	753					\$11.60	\$8,734.80		
11		MILL BITUMINOUS SURFACE (2.0")	SY	220					\$6.00	\$1,320.00		
12	·	SITUMINOUS MATERIAL FOR TACK COAT	GAL	2705	\$2.00				\$0.01	\$27.05	two contracts	
13	-	YPE SP 9.5 WEARING COURSE MIX (2,B) SPEC	TON	12038	\$44.00	\$529,672.00			\$45.60	\$548,932.80		\$571,564.24
14		ELOCATE MAIL BOX SUPPORT	EACH	19					\$130.00	\$2,470.00		\$2,470.00
15		RAFFIC CONTROL	LS	1	\$5,000.00				\$6,000.00			\$1,600.00
16		NSTALL SIGN TYPE C	EACH	4	\$100.00		\$135.00		\$130.00			\$520.00
17		IGN PANELS TYPE C	S F	48	\$30.00		\$52.50		\$50.00	\$2,400.00	\$50.00	\$2,400.00
18		ERTILIZER TYPE 3	LB	840	\$0.75		\$0.73		\$0.69			\$579.60
19		ALVAGED TOPSOIL FROM STOCKPILE (EV)	CY	808			\$22.50	\$18,180.00	\$18.50			\$20,604.00
20			ACRE	2.4			\$370.00	\$888.00	\$350.00			\$840.00
21		ISK ANCHORING	ACRE	2.4			\$370.00	\$888.00	\$350.00			\$840.00
22	2575.508 SI	EED MIXTURE 25-141	LB	142	\$4.50	\$639.00	\$4.17	\$592.14	\$3.95	\$560.90	\$3.95	\$560.90

	Project: SAP 001-632-007 - Agg Base/Shoulder, Bit Surfacing/Strip			Engineers Est	imate	Anderson Bro Construction Brainerd LLC		Knife River-Sa	ouk Rapid, MN	Central Specia Alexandria, MI	
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
23		TON	4.8	\$300.00	\$1,440.00	\$285.00	\$1,368.00	\$270.00	\$1,296.00	\$270.00	\$1,296.00
24		LF	26738	\$0.20	\$5,347.60	\$0.19	\$5,080.22	\$0.18	\$4,812.84	\$0.11	\$2,941.18
25		LF	45660	\$0.25	\$11,415.00	\$0.27	\$12,328.20	\$0.26	\$11,871.60	\$0.24	\$10,958.40
26	2582.503 4" BROKEN LINE MULTI COMP	L F	2989	\$0.25	\$747.25	\$0.27	\$807.03	\$0.26	\$777.14	\$0.24	\$717.36
27	2582.503 6" SOLID LINE MULTI COMP GR IN (WR)	LF	445	\$0.80	\$356.00	\$0.85	\$378.25	\$0.81	\$360.45	\$0.80	\$356.00
	Totals for Project SAP 001-632-007				\$849,662.35		\$794,271.59		\$816,303.28		\$896,042.68
ш	% of Estimate for Project SAP 001-632-007						-6.52%		-3.93%		5.46%
\blacksquare	Project: SP 001-606-021 - Bituminous Mill and Overlay CSAH 6			Engineers Est	mate	Anderson Bro		Knife River-Sa	uk Rapid, MN	Central Special	ities Inc-
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$35,000.00	\$35,000.00	\$12,500.00	\$12,500.00	\$72,500.00	\$72,500.00	\$79,000.00	\$79,000.00
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
3	2101.501 CLEARING & GRUBBING	LS	1	\$45,000.00	\$45,000.00	\$21,000.00	\$21,000.00	\$50,000.00	\$50,000.00	\$125,000.00	\$125,000.00
4	2104.502 SALVAGE PIPE APRON	EACH	2	\$300.00	\$600.00	\$525.00		\$200.00	\$400.00	\$250.00	\$500.00
5	2104.502 SALVAGE SIGN	EACH	33	\$30.00	\$990.00	\$32.00	\$1,056.00	\$30.00	\$990.00	\$30.00	\$990.00
6	2104.503 REMOVE PIPE CULVERTS	LF	54	\$15.00	\$810.00	\$37.50	\$2,025.00	\$14.00	\$756.00	\$16.00	\$864.00
7	2105.507 COMMON EXCAVATION (P)	CY	3228	\$8.00	\$25,824.00	\$9.25	\$29,859.00	\$8.90	\$28,729.20	\$8.00	\$25,824.00
8	2105.507 GRANULAR BORROW (EV)	CY	4391	\$15.00	\$65,865.00	\$10.50	\$46,105.50	\$16.45	\$72,231.95	\$20.00	\$87,820.00
9	2105.603 SHOULDER EXCAVATION	LF	48193	\$0.40	\$19,277.20	\$0.21	\$10,120.53	\$0.40	\$19,277.20	\$0.20	\$9,638.60
10		CY	1326	\$11.00	\$14,586.00	\$28.00	\$37,128.00	\$20.00	\$26,520.00	\$23.50	\$31,161.00
11	2211.507 AGGREGATE BASE (LV) CLASS 5	CY	1846	\$25.00	\$46,150.00	\$15.75	\$29,074.50	\$23.50	\$43,381.00	\$22.00	\$40,612.00
12		SY	1115	\$1.50	\$1,672.50	\$4.25	\$4,738.75	\$4.00	\$4,460.00	\$5.00	\$5,575.00
13		SY	82085	\$1.00	\$82,085.00	\$0.74	\$60,742.90	\$1.00	\$82,085.00	\$1.25	\$102,606.25
14		GAL	11365	\$2.00	\$22,730.00	\$1.85	\$21,025.25	\$0.01	\$113.65	\$2.00	\$22,730.00
15		TON	13701	\$40.00	\$548,040.00	\$43.25	\$592,568.25	\$44.25	\$606,269.25	\$49.61	\$679,706.61
16		EACH	2	\$350.00	\$700.00	\$500.00	\$1,000.00	\$4.95	\$9.90	\$300.00	\$600.00
17		EACH	2	\$300.00	\$600.00	\$800.00	\$1,600.00	\$345.00	\$690.00	\$250.00	\$500.00
18	2501.503 15" CS PIPE CULVERT	LF	76		\$2,660.00	\$52.00	\$3,952.00	\$58.00	\$4,408.00	\$30.00	\$2,280.00
19	2501.503 24" CS PIPE CULVERT	LF	18	\$50.00	\$900.00	\$105.00	\$1,890.00	\$78.00	\$1,404.00	\$35.00	\$630.00
20	2501.503 24" RC PIPE CULVERT	LF	12	\$75.00	\$900.00	\$132.00	\$1,584.00	\$84.00	\$1,008.00	\$185.00	\$2,220.00
21	2540.602 MAIL BOX SUPPORT	EACH	27	\$105.00	\$2,835.00	\$100.00	\$2,700.00	\$120.00	\$3,240.00	\$120.00	\$3,240.00

	Project: SP 001-606-021 - Bituminous Mill and Overlay CSAH 6			Engineers Est	imate	Anderson Bro	thers	Knife River-Sa	uk Rapid, MN	Central Special	ities Inc-
Line No.	ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
22	2 2563.601 TRAFFIC CONTROL	LS	1	\$30,000.00	\$30,000.00	\$4,500.00	\$4,500.00	\$8,500.00	\$8,500.00	\$2,400.00	\$2,400.00
23	3 2564.502 INSTALL SIGN TYPE C	EACH	31	\$100.00	\$3,100.00	\$125.00	\$3,875.00	\$120.00	\$3,720.00	\$120.00	\$3,720.00
24		LF	665	\$3.50	\$2,327.50	\$2.65	\$1,762.25	\$2.50	\$1,662.50	\$2.50	\$1,662.50
25	· · · · · · · · · · · · · · · · · · ·	CY	200	\$30.00	\$6,000.00	\$30.00	\$6,000.00	\$30.00	\$6,000.00	\$45.00	\$9,000.00
26	101	LB	1880	\$0.75	\$1,410.00	\$0.73	\$1,372.40	\$0.69	\$1,297.20	\$0.69	\$1,297.20
27	2575.504 EROSION CONTROL BLANKETS CATEGORY 3N	SY	1689	\$2.00	\$3,378.00	\$1.85	\$3,124.65	\$1.75	\$2,955.75	\$1.75	\$2,955.75
28		ACRE	9.4	\$500.00	\$4,700.00	\$210.00	\$1,974.00	\$200.00	\$1,880.00	\$200.00	\$1,880.00
29		ACRE	2.7	\$1,800.00	\$4,860.00	\$475.00	\$1,282.50	\$450.00	\$1,215.00	\$450.00	\$1,215.00
30		LB	555	\$4.50	\$2,497.50	\$3.45	\$1,914.75	\$3.25	\$1,803.75	\$3.25	\$1,803.75
31		LB	32900	\$1.00	\$32,900.00	\$1.32	\$43,428.00	\$1.25	\$41,125.00	\$1.25	\$41,125.00
32		LF	84336	\$0.20	\$16,867.20	\$0.19	\$16,023.84	\$0.18	\$15,180.48	\$0.11	\$9,276.96
33		LF	26408	\$0.25	\$6,602.00			\$0.36	\$9,506.88		
34		LF	53862	\$0.80	\$43,089.60	\$0.85	\$45,782.70	\$0.81	\$43,628.22	\$0.80	
35	2582.603 6" BROKEN LINE MULTI COMP	LF	3405	\$0.25	\$851.25	\$0.38	\$1,293.90	\$0.36	\$1,225.80	\$0.36	\$1,225.80
	Totals for Project SP 001-606-021				\$1,076,807.75		\$1,024,089.71		\$1,158,174.73		\$1,351,656.90
	% of Estimate for Project SP 001-606-021						-4.90%		7.56%		25.52%
	Totals for Contract 20184				\$2,114,664.65		\$2,005,194.00		\$2,195,851.78	1	\$2,507,795.59
	% of Estimate for Contract 20184						-5.18%		3.84%		18.59%

I hereby certify that this is an exact reproduction of bids received.

_ License No. <u>2434(</u>)

Certified By: 4 Low Well
Date: 6-11-18



1st Street NW Improvements – Information Open House

June 14, 2018 – Aitkin City Hall – 5:30 pm

The City of Aitkin will be holding an Information Open House at the Aitkin City Hall for pending improvements to 1st St NW between Minnesota Avenue (Hwy 169) and 4th Avenue NW (extended). The project scope includes 1st Avenue NW, 2nd Avenue NW, and 3rd Avenue NW south of Hwy 210.

Anticipated discussion topics include:

- Project Scope and Status
- Project Schedule
- Project Contact Information
- Specific Project Questions

The format of this meeting is as an <u>Informational Open House</u>. As a result, <u>there will only be</u> <u>introductory comments made</u> at the start of the Open House. City staff and project engineering staff will be available to discuss the project and answer questions on an individual basis.



MONTHLY STATEMENT OF BUSINESS TRANSACTED IN OFFICE OF COUNTY RECORDER, AITKIN COUNTY May 2018

NATURE OF BUSINESS TRANSACTED COUNTY RECORDER FEES		FEES RECEIVED
MISC RECEIPTS	*	
COPIES & C/COPIES	1123 II 173	\$1,294.10
NOTARY	-	\$40.00
TORRENS TORRENS ASSURANCE	*** 9.2031	\$348.00 \$24.00
COUNTY GENERAL FUND STATE TREASURY GENERAL FUND LAND RECORDS COMPLIANCE FUND (UNALLOC)	*** 9.2036 1-100-195-5529	\$8,004.00 \$5,964.00 \$6,248.00
RECORDER TECHNOLOGY FUND COUNTY WELL CERTIFICATE STATE WELL CERTIFICATE	1-100-196-5529	\$5,680.00 \$300.00
STATE WELL CERTIFICATE	*** 9.2027	\$1,700.00
COUNTY DEATH CERTIFICATE STATE DEATH SURCHARGE	*** 9.2022	\$351.00 \$436.00
COUNTY BIRTH CERTIFICATES		\$319.00
STATE BIRTH SURCHARGE	*** 9.2022	\$148.00
CHILDREN'S SURCHARGE LEGISLATIVE SURCHARGE (144.226 SUBD 3 (b))	*** 9.2024 *** 9.2036	
TOTAL DEPOSIT OF CASH OR CHECKS TO THE AITKIN COUNT	Y TREASURER	\$31,337.10

RECORDING DONE FOR WHICH NO PAYMENT WAS RECEIVED

VETERANS HONORABLE DISCHARG	BES		
AITKIN COUNTY			\$276.00
AITKIN CO ROAD & BRIDGE			\$184.00
OTHERS		- 1 Dett 20 - 2 Dette	\$92.00
TOTAL			\$552.00

Michael T. Moriarty, Aitkin County Recorder

May 31, 2018

Documents Recorded for Month: 571 Documents Recorded for Year:

Previous Year Statistics

Documents Recorded for Month: 554 Documents Recorded for Year:

Last Year's Monthly Deposit: \$31,187.40

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Ag Society Kirk Peysar-Aitkin County Courthouse 209 2nd St NW Aitkin, MN 56431



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$10,000 and an additional \$10,000 for capital improvements.

Please indicate the project(s) that you intend to fund with the capital appropriations.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely,

Jessica Seibert

County Administrator

Jessim Subrio

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Aitkin Airport Commission 109 1st Ave NW Aitkin, MN 56431



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$14,107.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Jessin Sulvas

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Aitkin County CARE P.O. Box 212 Aitkin, MN 56431

Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received a base appropriation in the amount of \$37,900. The Board also granted an additional \$8,000 for 2018 only (please see attached copy of letter to CARE dated September 18, 2017).

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting more than the base appropriation of \$37,900, the Board asks that you give a presentation and explain the situation. Specifically, the Board would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, you will be asked to include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely Jessin Subres

Jessica Seibert

County Administrator

Aitkin County Courthouse Jessica Seibert, Administrator

217 Second Street N.W. Room 134

Aitkin, MN 56431 218-927-3093

Fax: 218-927-7374

September 18, 2017

Maureen Mishler, Executive Director Aitkin County CARE P.O. Box 212 Aitkin, MN 56431



Dear Maureen:

On September 12, 2017 the Aitkin County Board of Commissioners approved CARE's additional appropriation request of \$8,000, for a total appropriation of \$45,900 for 2018 only.

The County Board appreciates everything CARE does for our community and has the utmost respect for the organization. They understand that CARE has gone through many changes in the past few years and offer their support. However, the Board is hopeful that during 2018 CARE will be able to get enough funding through other means, such as grants, so that in 2019 CARE will not need the additional \$8,000. If CARE determines more than the set appropriation of \$37,900 is needed in 2019, the County Board will ask that you give a presentation and explain your situation.

Please remember to send a letter to my office in 2018 requesting your appropriation payment.

Regards,

Jessica Seibert County Administrator

cc: County Board

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

East Central Regional Library 244 South Birch Street Cambridge, MN 55008

Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$224,577.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Aitkin County Historical Society PO Box 215 Aitkin, MN 56431



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$16,500.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Aitkin County Courthouse Jessica Seibert 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Joint Counties Natural Resources Board Beltrami County 701 Minnesota Avenue, NW Bemidji, MN 56601



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$1,000.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- · A list of who these services are rendered to and approximately how many people are served
- Three new pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Paul Carlson, Executive Director Arrowhead Economic Opportunity Agency, Inc. 702 Third Avenue South Virginia, MN 55792



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$5,000 for the Aitkin County Rural Rides Program.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Jessin Selber

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

Caroline Larson Support Within Reach 312 Minnesota Avenue, Suite 2009 Aitkin, MN 56431



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$500.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely Jesoin Suber

Jessica Seibert County Administrator

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W., Rm. 134 Aitkin, MN 56431 218-927-3093

May 31, 2018

McGregor Airport Commission McGregor City Hall McGregor, MN 55760



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$13,900.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Aitkin County Courthouse
Jessica Seibert, County Administrator
217 Second Street N.W., Rm. 134
Aitkin, MN 56431
218-927-3093

May 31, 2018

Northern Counties Land Use Coordinating Board 35559 Hill Road Grand Rapids, MN 55744-4760

Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$2,000.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Aitkin County Courthouse
Jessica Seibert, County Administrator
217 Second Street N.W., Rm. 134
Aitkin, MN 56431
218-927-3093

May 31, 2018

Snake River Watershed Management Board 18 N Vine Street #291 Mora, MN 55051

Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$10,079.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely

Jessica Seibert

County Administrator

Jessin Suber

Aitkin County Courthouse Jessica Seibert, County Administrator 217 Second Street N.W. Aitkin, MN 56431 218-927-3093

May 31, 2018

Aitkin County Soil and Water Conservation District Steve Hughes 130 Southgate Drive Aitkin, MN 56431



Aitkin County is establishing its 2019 budget. As an organization that received funds from Aitkin County in 2018, we are asking for your assistance.

According to our records, in 2018 your organization received appropriations in the amount of \$98,034.

There will be very limited availability of funds for appropriations in 2019. In the event your organization is requesting an increase, please be sure to include a statement which justifies the requested increase. Specifically, we would like to know the expenditure or revenue pressure your organization is facing and how any increase granted by the County Board would improve services. Also, please include any steps your organization is taking to control your costs.

With all requests, regardless of whether or not you are seeking an increase, please include:

- The amount of money you are requesting from Aitkin County and a budget of how the money will be used
- A narrative that includes the services you provide to the taxpayers of Aitkin County
- A list of who these services are rendered to and approximately how many people are served
- Three pieces of information that the County Board believes is necessary:
 - What is your total annual operating budget?
 - What is your year end Fund balance (capital and operating or other)
 - Where else does your funding come from i.e., grants etc.

Please have this information back to me prior to July 27th for consideration of the County Board.

If you have any questions, please feel free to call me at (218) 927-3093. Thank you for your time and attention to this matter.

Sincerely Sulves

Jessica Seibert

County Administrator

Aitkin County Board of Commissioners Board Meeting Attendance Record

Date: June 12, 2018

		Please o	heck the boxes that apply.
Name Bot Marunts	Aitkin County Citizen	Aitkin County Employee	Company Representative – please list
3 of Marunts			19× 5666